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A4 7,899,786 6,959,762 940,024
=2 830,000
AlHI 3,790,000
-4l 3,229,786
S2IIEAE =5 2 THoHOl 7,365,554 6,316,672 1,048,882
2 880,000
AlHI 3,790,000
T4l 2,695,554
Jt2 ZHl 81,068 179,287 A98,219
ALdd & ZSE IHat2el 60,272 160,095 299,823
101 el ] 7,613 10,920 23,307
04 JIZtHIZ2E2HEE S 7,613 10,920 A 3,307
O= - SFHE LHAEHZA 7,613
e 46,789 x1H+ 120 5,615
=Xt 46,7893 x1H +24 1,123
- Xt 46,7893 x1H +5& 234
- =28 RBES 6,972,000 *4.5% 314
- SHAEE BES 6,972,000 *2.54% 178
CEEE RE3 6,972,000 *1.3% 91
MHEE R2ES 6,972,000& +0.7% 49
LI RAEE BY 178,000 *4.78% 9
2B 29,089 125,955 296,866
AR 22l 23,614 120,480 A 96,866
ON 2=t 1,160
MATHIZE 1,160
- HROXAM 66,000 * 102 A 660
- MHAAFHLD SXA 50,000& 105 500
OM2=+2 20 A2FFY 1,510
Z2y E4H 150, 000& *5H 750
T2y &9 380, 000& 204 760
O=2 - 28 E+3 (08,2, E2)
261,800& «80& Xl 20,944
S22l 5,475 5,475 0
OM=S MR Hates= 475
s RES 1,750& 10024 175
LFEEHM =LAX FE
3,000& 10024 300
=YX N SERES 5,000
=P 1,750& %2,50024 4,375
2 gt 250% *2,50024 625
R =2 6,570 6,220 350
RS Rea S| 6,570 6,220 350
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OZAN= =QEéA AIBZA 3,200,000& 3,200
(@Fak=)- FSEUNRE=FN 1,000,000& 1,000
Odd & ZLSAE Sttiial 30,0003 19 570
OEZRX2el ANBFH 1,000,000& 1,000
OEZ2d4 L B4 A#FX 800,000& 800
305 thal=s 2,000 2,000 0
01 a3 S 2,000 2,000 0
O&2®X2tel Eoltlat 2,000,000& 2,000
307 2U12t01H 15,000 15,000 0
05 GIZtRAEZ 15,000 15,000 0
Oanl2 A&£HIIZ2 Hel 15,000,000& 15,000
SHC-EY oS 20,796 19,192 1,604
201 LBt A 4,140 4,536 A 396
01 AtS 22l 1,680 1,680 0
OLF4 Ot Z2F =4
7,000& x10F 22«12 1,680
02 5234l 2,460 2,856 A 396
OE=2HE SUHE AS(ZUEA) 1,260
AR S 35,0003 +3CH+12& 1,260
ONEHFAX XX 299 1,200
& - ot 2 40,0003 x12& 480
&=z 60,000& 123 720
301 et24a= 9,656 9,656 0
09 SUI2RRIBAZ 9,656 9,656 0
OLFaHs & HHYRE X 9,656
== 88,0003 x3H +12& 3,168
SAlH| 5,000& x22 3=+ 12 3,960
mE=i:] 2,600 x222 x3H 123 2,060
28= 156,000& «3H 468
307 212t01& 7,000 5,000 2,000
05 2IRIRAES 7,000 5,000 2,000
OoAX HII=Z Ml 7,000,000& 7,000
C2H4 3,481,650 3,422,419 59,231
= 880,000
AlHI 2,390,000
4l 211,650
M2ustn |XSX Mgz Hd 1,000,000 0 1,000,000
AlHI 1,000,000
401 A EHIL 204 1,000,000 0 1,000,000
AlHI 1,000,000
01 Al&H| 1,000,000 0 1,000,000
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1,000,000, 000& 1,000,000
AlHI 1,000,000
Hel0IBS2YH 600,000 378,000 222,000
= 300,000
AlH] 150,000
=l 150,000
401 AlEHIZ 2 600,000 378,000 222,000
= 300,000
AlHI 150,000
-4l 150,000
01 Al&H| 600,000 378,000 222,000
ONHe0IES7Y &AL 600,000, 000& 600,000
= 300,000
Al 150,000
4l 150,000
DEAD FSRIHM 360,000 363,000 ~3,000
= 180,000
AlHI 180,000
401 AEHIYLS ] 360,000 363,000 23,000
= 180,000
AlHl 180,000
01 Al&EH 360,000 363,000 23,000
OusSAMD 22 HaAS 360,000,000& 360,000
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= 400,000
AlH] 400,000
UM DAWL ¥ TREF 500,000 0 500,000
AlHI 500,000
401 AM&HIL 2048 500,000 0 500,000
AlHI 500,000
01 Al&t| 500,000 0 500,000
OZd SJAME o T2 I (XAE)
450,000,000 450,000
AlHI 450,000
O2& GHEHAPT X2 Dt EHI(XHAHE)
50,000,000& 50,000
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AlHI 160,000
401 Al&HI LS OHYI 160,000 0 160,000
AlHI 160,000
01 Al&H| 160,000 0 160,000
Oo¥gdz =0 SEHY (XXHE)
160,000, 000& 160,000
AlHI 160,000
EzA4d N 61,650 81,419 A19,769
201 et 8,930 8,699 231
01 AtS 22l 8,780 8,549 231
OSIEE =gk 2 2,800
ARAH0E SIEE 9,000:& *3000H4 2,700
HAIHE SIIEE 2,000 *500H 100
OoMa=gelx +¢ 20,000& »300H4 600
OXNMSMEH 225 P 5,380
SHWE 77,000& * 1004 770
ZetEY 140,000& *20H 2,800
Zcotd 3 40,0002 10K 400
=2H 23 50,000& » 1504 750
Z22H E 66,0003 102 660
02 25234l 150 150 0
O==ENZ2E fE= 3,000& *5024 150
202 O4Hl 720 720 0
01 =LA bl 720 720 0
O2&8o ol 20,0003 3L «12& 720
305 Hiad=ss 50,000 70,000 220,000
01 =S 50,000 70,000 220,000
OMSBX E2HY EX B4 50,000,000& 50,000
401 A &HIL 204 2,000 2,000 0
03 Al =204l 2,000 2,000 0
OFEH 2= ¢ 20,0003 102/ x10H 2,000
ZANE=S 22 763,680 1,215,120 A451,440
A2 EHAAY 400,000 700,000 300,000
401 Al&HI YR OHYI 400,000 700,000 300,000
01 Al&H| 400,000 700,000 A300,000
O FPIEHAAY 400,000,000& 400,000
CZANEE EH ¥ E= 363,680 515,120 A 151,440
201 LEH2HH| 9,680 7,120 2,560




S AL
M C2I|BAIE &5 L THolofl e

@ S2AIdE 22 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 AtSR22/Hl 7,680 5,120 2,560
OEZHHIE SIIYX 320,000 3L x45+23] 7,680
02 2234l 2,000 2,000 0
Oz el FUI(THEI,EH0I3H,XED) R
2,000,000& 2,000
206 M=l 19,000 13,000 6,000
01 Mz bl 19,000 13,000 6,000
O==2J|I=ddl ANM(SSHE, 2el) 72
7,000,000& 7,000
OE2Zxd otAZ(23) 7 12,000,000& 12,000
401 Al &HIL 204 335,000 495,000 A 160,000
01 Al&HI 330,000 490,000 A 160,000
OthesXl 22| 20,000,000& 20,000
oktz=z#® =+ 100,000, 000& 100,000
O &M o B 20,000,000& 20,000
OASP S22 X ZE B 80,000, 000& 80,000
OZOHQ HOAE &X 10,000,000& 10,000
Ong sz 20,000,000& 20,000
OuLnsSANE2(RHM=ES)EX € &l
40,000,000& 40,000
O=2dieZ e 40,000, 000& 40,000
03 AIZ20i4l 5,000 5,000 0
O=Z2FXNAIE A2 5,000,000& 5,000
JIHANEES 2l 1,361,457 1,222,673 138,784
FwsZI| 2 23,961 26,901 A 2,940
201 L2y 23,961 26,901 A2,940
01 AtSR22/H] 60 3,060 23,000
O=dze|it = 30,000& »2H 60
02 2234l 23,901 23,841 60
Os=sExzuwed sWsd)| S22 7,866
ordzte] Hd=+==  400,000&+*1.1x12& 5,280
HMol= 2,065
AR
5,320 * 10Kw* 123 1. 1%1.037+2CH 1,457
-ABE 743 +300Kwx 122 1. 1%1.037+2H 608
SN E 521
-JleEs 5,200& x 13| & * 123 x1.1 69
-AME= 142 +300= =+ 128 *1.1 56
-3z 30,000 123 *1.1 396
OUUz=uweY susdI| sA2e 7,110
ordztel tHd=+==  400,000&*12&*1.1 5,280
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®Il2 1,185
-JI2E 53208 «10Kwx 128 %1.037+1. 1 729
- A8E 742 %450Kw* 122 %1, 0371 . 1 456
-sM2 645
-Jlze 5,2008 * 128 *1. 1%23] & 138
- M2 1400 S+ 128 %1, 1x25] & 11
-sdE 30,0002 <128 1. 1 3%
OS=E8H |05L)| X 2L 8,271
50| oEBe HELLE
400,0002! * 128 *1. 1 5,280
®ol2 2,470
-JIBE 53208 «20Kwx 128 %1.037+1. 1 1,457
-AFBE 7481%1,000Kw 128 %1.037+1. 1 1,013
csME 521
-Jl=e 5,2008 %128 1. 1 69
- A8E 1485300 -+ 128 +1. 1 56
-sdE 30,0002« 128 *1. 1 3%
OFIIAA 448 99,0002 6L 1. 1 654
Sots 22 308,201 308,488 £287
201 Y2 ] 171,673 135,240 36,433
02 ZZegl 171,673 135,240 36,433
OHOS 248 SU1E A8
35,0002 10§ » 122 420
O=os ®I|E
29.62 100W<4, 3835 128 +1. 1 171,253
206 T2 48,728 47,248 1,480
01 MZHl 48,728 47,248 1,480
O BoIS 222 7Y 48,728
ngam
13, 10021 *4, 3835 *(3652 #1241 2+) /12,000+7 14,671
0%
iE=I2-b] 16,0002 4, 3835 *10% 7,013
s B 40,0002 *4, 3835 * 10% 17,532
2otS I3 26,0009 +4,3835*3% 3,419
248 M 1,560 +4, 3835 *5lx5% 1,710
22 20,0008 *4,3835 *5% 4,383
401 AIAHIL ST 87,800 126,000 38,200
01 Al£H| 87,800 126,000 38,200
OB 2SS +2/BA 57,800
2ot A 430,0008 *100S 43,000
2SS HI 25,7002 205 514
oS 04 384,000 +55 1,920
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= EEmbc| 35,900& 1004 3,590
otE Dl WA 52,4503 1004 5,245
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2ots A4 500,000& 605 30,000
hzs 2el 805,764 691,784 113,980
201 Let2d| 572,282 511,002 61,280
02 =234l 572,282 511,002 61,280
OJt2s dJIE 562,243
- JIE22 4,500 *340H «bkw 12 x1.037*1. 1 104,717
CAMEE
(0.44kwx5085+0.28kw*4,497 S ) *61.8% *12H 457,526
*3652 *1.14
OJt2s f4MN sS4 2 10,039
KT,2AhS4& = 115,500& <128 1,386
KESa =2 8,653
2= 5,000 x69CH«12& 1.1 4,554
AR= = 30R +69CH * 12& x 15024 *1. 1 4,099
206 M=l 53,482 53,482 0
01 MHZHl 53,482 53,482 0
Oitzgs =Mz 74 53,482
=R
12,1202 +5,005S * (3652 *12H) / 12, 000H 22,142
- oHE DI 17,320& *5,0055 *10% 8,669
CIOt2E JIF 63,000 #5,005 *3% 9,460
== 467,500 *340%H 3% 4,769
B8 M 500& 182, 000m*5% 4,550
- oFED AHHY 10,000& *5,005%H *5% 2,503
CARE 46,274,000 *3% 1,389
401 Al EHIL 201 180,000 127,000 53,000
01 Al&HI 180,000 127,000 53,000
OJlz2E FEF2 =2 At 97,000
SE2 W 1,200, 000& 60 2* 72,000
- FAXED EX 25,000& 5004 12,500
dE &3 10, 000& x500& 2+ 5,000
2 E EH MEX 150, 000& *50& 2+ 7,500
OtE == JI28 WM =+
4,000,000& *10= 40,000
O-=ti&dg wHd ¥ 2= 2,000,000& 54 2 10,000
OZEZHel~s3APT2H D25 &X
33,000,000& 33,000
TEAL HII4H| 22 223,531 195,500 28,031
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201 LetEdH| 177,531 170,500 7,031
02 2223l 177,531 170,500 7,031
OFEN B32= 165,563
TEA HII= 129,685
-JlE= 5,790 «600Kw* 12 *1.037*1. 1 47,554
-AEZ 752 %80, 000Kw* 122 *1.037*1. 1 82,131
LIANRY &= 18,678
-JlZ2 5,280 *96Kwx 122 1. 1037 1.1 7,385
A R= = 753 *11,000Kwx 12& *1.037*1.1 11,293
CTEA ®IIAH GEEAUM 242
600,000& «12& 7,200
OFEA MII4Hl RXE= (ML & FX=
eltl) 20,000,000& 20,000
OTF&EA HI&EMI| 7X 1,968
- S Al 7,3733 x200kw 1,475
R E=3.] 1,4143 «582| &4 *0.5h* 128 493
401 A EHIL 201 46,000 25,000 21,000
01 Al&HI 46,000 25,000 21,000
OFEAN =g4dl LA 46,000,000& 46,000
=8 & 22 1,677,699 277,173 1,400,526
AlHI 1,400,000
-4l 277,699
S IEHIZE AEES(A Me203) 1,400,000 0 1,400,000
AlHI 1,400,000
401 Al&HI LS04I 1,400,000 0 1,400,000
AlHI 1,400,000
01 Al&HI 1,400,000 0 1,400,000
oB=Z 2 1,400,000,000& 1,400,000
AlHI 1,400,000
=82 29 256,699 256,173 526
201 Yereoty| 229,699 224,173 5,526
01 AtR22/Hl 1,230 1,353 A123
Otl==8ZZ224 2 IIZ2sE2 102 2¢ 1,230
s 35,000& +10 350
2ets 40,0002 10 400
L9 15,000& 10 150
&3t 10,000& 10 100
ot& 5t 23,0003 10 230
02 2323l 228,469 222,820 5,649
O Zgt1-2,octEEd s 2 3l 330
dojetM e At & el 93,0003 *x2H 186
Aot e @ galdl 66,0003 x1H 66
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- XSRS MIIB 3,157
]
4, 6102 *6KNx 122 1. 1%1. 0875204 A 758
INE=3=
73 %1, 200KWh* 122 %1 1x1.087%20H & 2,399
CHHAEOE & GaER
30,0002 374 A * 122 1,080
B+EDE SMR
40,0002 %30} A x 122 1. 1 1,584
B+EIR SEH 223
45,0002 37} 4 +23 270
Oli+HER By oz
98721 22| £ *702 8| 2+ 1,106
206 T2l 2,000 2,000 0
01 M=l 2,000 2,000 0
OH+BIN 2928 2 2,000,0002 2,000
401 AlEHIZ 20| 25,000 30,000 A5,000
01 Al&H 25,000 30,000 A5,000
OIS+ EIR ylaZHE)| 288 D7
25,000,000 25,000
HOE HEE2 He 21,000 21,000 0
401 AlEHIZ 20| 21,000 21,000 0
01 Al 21,000 21,000 0
OH+BIE gZ2H2l 8 300,000 70m 21,000
WHSAAY (AL D) 534,232 643,090 ~108,858
ol 2oyl 509,218 614,077 ~104,859
olzi2 oyl 509,218 614,077 A 104,859
101 ©124H] 501,718 606,517 A 104,799
01 24 1,260 1,260 0
OLF4 0TS R AAL224Y
21,0002 x5% * 13|+ 122 1,260
02 JIEHR 24 43,640 42,044 1,596
OFABE 43,640
pIEE 1,900, 50021 12 * 122 22,806
N02 1,901
-Yasy 22,806,00024 1/12 1,901
NErg 480
- Xt 40,0002 %124« 122 480
NER-ENS= 6,342 *30 Al 24122 2,284
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201l 20,0002 %1% +102 * 122 2,400
IEES 105,00021 1% * 122 1,260

03 RIHAD2S 4 456,818 563,213 A 106,395
OAL B A 456,818
=3 1,267, 65021 * 132 * 122 +75% 148,316
Houpg 26,640
SObELy 7,920
B < Xt 40,0002 * 1383 128 *75% 4,680
JlEk 20,0001 * 183 * 122 +75% 3,240
SSaQRag 90,0002 <133 +12E x75% 10,530
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A E 98,546
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AOI2 XI2IIE 286,673,400 *100%+23] 35,835
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-yasy
M0I2 KZIIE 286,673,400 50%+23] * 17,918
1/12%75%
S EI=EE
MO0IZ KZIIE 286,673,4002 +50%+53] * 44,793
1/12%75%

T EET 75,321
-FUTAIH 160,0002 133 + 122 x75% 8,720
SOPHMEEE 10,0008+ 133+ 128 +75% 2,870
-DEEFH 140,000 133 122 +75% 16,380
- CHRI= AL 50,0002 * 1383 * 122 *75% 5,850
- YEEIHY|

AOI2 XIBIIFE 286,673,4002 *1/12+60% 21,501
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zn224Y 76,835
-pUDRsy
S 4RI 310,073,0002 *1/12%1/226 A 2 49,393
150%+8A 2H 482 +75%
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ST 310,073,0002 *1/226 Al 2H50%x4 10,291
Al 2H52 %750%
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